








This is because at point P, f is 
increasing in the direction u.



The first two graphs experience 
correct points along the line as 
t=0,1,2. The second graph has 
the correct derivative at (1,1).
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The top surface 
corresponds to 
rho=phi

This one has the 
correct theta 
bounds, and the 
radius goes from 
1 to 2







Here, a cross 
section taken at 
some particular y 
is a circle with 
radius y.

see
explanation
on following
page



Iza :

For fixed v we get circles about y - axis .
For example ,

for V- I we have rcu
, i
) = ( cos u

,
I
,
sinu ) .

This
rules the 1st and 4th options .

For fixed u we get line segments starting from theorigin . for example , for u - o we have
✓ ( O

,
v ) = ( v

,
r
, o ) .

This rules out the 2nd option ,
so the answer is the 3rd option .



The vectors should be parallel to the 
xy-plane. The x component should 
increase as z value increases, and the 
y component should be 1 for each 
vector.

The flow is sinking into the lower 
right corner.

The vectors should have the exact same length and direction

The vectors should be perpendicular to the level sets.

Right hand rule






